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ASSISTANT DIRECTOR OF FISHERIES IN TAMIL 

NADU FISHERIES SERVICE 
 

1. Terminal velocity is related to  
a. Viscosity    b. Surface tension  
c. Circular motion    d. Linear motion  
e. Answer not known  
Kw;W jpirNtfk; vd;gJ fPo;fz;l vNjhL njhlh;GilaJ?  
a. ghfpay; tpir    b. gug;G ,O tpir 
c. tl;lg;ghij ,af;fk;   d. Neh;Nfhl;L ,af;fk;  
e. tpilnjhpatpy;iy  

 
2. which star is nearest to the earth next to the sun?  

a. Andromoda   b. Alpha century 
c. Sirius     d. Cygni  
e. Answer not known  
#hpaDf;F mLj;jhw;Nghy; Gtpf;F mUfpYs;s tpz;kPd; vJ?  
a. Md;l;NuhNkhlh   b. My;gh nrQ;#hp 
c. rphpa];     d. irdp  
e. tpil njhpatpy;iy 

 
3. Rote memory is the ability to memorise verbal materials as measured 

by the usual methods of 
a. Recall    b. Recognition  
c. Recite    d. All of these  

e. Answer not known  
kdg;ghl epidthw;wy; vd;gJ nrhw;rhh; nghUs;fis epidT+l;Lk; 
jpwd; MFk;. ,ij mstpl gad;gLk; nghJthd Kiw (fs;) vd;gJ 
(it)  
a. epidT $h;jy;   b. mq;fPfhpj;jy;  
c. jpUk;g xg;Gtpj;jy;  d. ,itfs; midj;Jk;  
e. tpil njhpatpy;iy 
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4. Intelligent behaviour directly depends on  
a. Memory    b. Instincts  
c. Innate Behaviour    d. Reflex  
e. Answer not known  
mwpthh;e;j elj;ij fPo;fz;ltw;Ws; vjid Neubahf rhh;e;Js;sJ?  
a. epidthw;wy;   b. cs;Szh;T  
c. cs;shh;e;j elj;ij   d. gpujpgypg;G  
e. tpil njhpatpy;iy  
 

 
5. Name the Indian – American aerospace engineer who led the 

‘NASA’S MARS 2020 MISSION’. 
a. N. Valarmathi    b. Swati Mohan  

c. Kalpana Chawla   d. Devaki  
e. Answer not known  
,e;jpa – mnkhpf;f tpz;ntspg; nghwpahsh;> ehrhtpd; nrt;tha; 2020 
jpl;l nray;ghLfis top elj;jpath;. 
a. e. tsh;kjp    b. ];thjp Nkhfd; 
c. fy;gdh rt;yh   d. Njtfp  
e. tpil njhpatpy;iy 

 
6. 10% reservation for EWS (Economically Weaker Sections) guarantees 

by which Constitutional Amendment 
a. 100th   b. 103rd  c. 27th   d. 75th  
e. Answer not known 
ve;j murpayikg;G rl;l jpUj;jk; nghUshjhu hPjpapy; 
gytPdkhdth;fSf;F> 10% ,l xJf;fPl;il cWjpg;gLj;JfpwJ. 
a. 100-tJ   b. 103-tJ  c. 27-tJ  d. 75 tJ 
e. tpil njhpatpy;iy 
  

7. Indian Nuclear Power Programme stage-3 aims using-----------------
'fuel of the future'.  
a. Radium   b. Polonium  
c. Thorium   d. Actinium 
e. Answer not known 
,e;jpa mZf;fU Mw;wy; jpl;lk; - gb – 3y; ________ I vjph;fhy 
vhpnghUshfg; gad;gLj;j jpl;lkpl;Ls;sJ.  
a. Nubak;    b. NghNyhdpak; 
c. Njhhpak;    d. Mf;bdpak;  
e. tpil njhpatpy;iy 
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8. Which one of the following language is not an Indo-Aryan linguistic 
family? 
a. Balti    b. Bihari   
c. Bengali   d. Bagheli 
e. Answer not known 
gpd;tUk; nkhopfspy; ,e;Njh – Mhpa nkhop FLk;gj;jpy; NruhjJ vJ?  
a. ghy;b    b. gpfhhp 
c. ngq;fhsp    d. gNfyp  
e. tpil njhpatpy;iy 
 

 
9. Which river is known as Tsangpo in Tibet?  

a. Damodar    b. Manas  
c. Brahmaputra   d. Mahananda 
e. Answer not known 
jpngj;jpy; rhq;Ngh vd;wiof;fg;gLk; ejp vJ?  
a. jhNkhjh;    b. khd]; 
c. gpukGj;uh    d. k`hee;jh  
e. tpil njhpatpy;iy 

 
10. Consider the following statement/s is/are true in respect of size of 

India : 
i. India has 4.42% of the Worlds total land area. 
ii. India has an area of 3.2 million sq.km., making it the seventh  

largest country in the World. 
a. (i) only    b. (ii)only 

c. Both (i) and (ii)   d. None of the above 
e. Answer not known 
fPNo nfhLf;fg;gl;Ls;stw;Ws; ,e;jpahtpd; nghpa rkntsp njhlh;ghd 
rhpahd $w;W / $w;Wfs; fUj;jpy; nfhs;sTk;.  
i. cyfpd; nkhj;j epyg;gug;gpy; ,e;jpah 4.42 rjtPjj;ij 

nfhz;bUf;fpd;wJ.  
ii. ,e;jpahtpd; gug;gsT 3.2 kpy;ypad; rJu fp.kPl;lh;fs;> MfNt ,J 

cyfpd; VohtJ nghpa ehlhf cs;sJ.  
a. i kl;Lk;     
b. (ii) kl;Lk;  
c. (i), (ii) Mfpa ,uz;Lk;   
d. Nkw;$wpatw;wpy; vJTk; ,y;iy  
e. tpil njhpatpy;iy 
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11. By which amendment the word 'Secular' was added to the Preamble 
of the Constitution? 
a. 22nd  b. 32nd  c. 42nd  d. 52nd 
e. Answer not known 
ve;j rl;lj;jpUj;jj;jpd; %yk; (Secular) ‘rkarhh;gw;w’ vd;w thh;j;ij 
murpay; rhrdj;jpd; Kfg;Giuapy; Nrh;f;fg;gl;lJ?  
a. 22tJ  b. 32tJ  c. 42tJ  d. 52tJ  
e. tpil njhpatpy;iy 

 
12. Who mentioned about the Rose Merchants of Vijayanagar? 

a. Barbarossa   b. Abdur Razak 

c. Nuniz    d. Paes 
e. Answer not known 
tp[aefuj;J Nuh[h tpahghhpfisg; gw;wp Fwpg;gpl;lth; ahh;?  
a. ghh;gNuhrh    b. mg;Jh; urhf; 
c. epA+dp];    d. ga];  
e. tpil njhpatpy;iy 

 
13. Under Maratha administration, the Amatya or Majumder was 

appointed 
i. He was responsible for the account of Income and Expenditure 

of the state. 
ii. He   was  responsible  for  the  personal  safety  of the  king  and 

supervise his daily routine work.  
iii. He was the foreign minister.  
iv. His duty was to see that all royal letters. 

Which of the above statement is correct? 
a. (i)  b. (ii)   c. (iii)  d. (iv)  e. Answer not known 
mkj;ah my;yJ k[{k;jhh; vd;gtiu kuhj;jpa Ml;rpapy; epakdk; 
nra;jdh;.  
i. mth; khepyj;jpd; tuT nryT fzf;if ghh;g;gjpy; nghWg;ghf 

epakf;fg;gl;lhh;.  
ii. kd;dhpd; ghJfhg;G kw;Wk; jdp cjtpahsuhfTk; mthpd; jpdrhp 

Ntiyfis Nkw;ghh;itapLtjpy;  
iii. ntspAwTj; Jiw ke;jphpahf epakpf;fg;gl;lhh;.  
iv. muz;kidf;F tUk; jghy;fis ghh;g;gJ mthpd; flikahFk;  
Nkw;$wpatw;wpy; vJ rhpahd $w;whFk;?  
a. (i)  b. (ii)   c. (iii)  d. (iv)  e. tpil njhpatpy;iy 
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14. Identify the false statement about the Central Bureau of Investigation.  
a. Is a statutory body. 
b. Is not a statutory body 
c. Derives   its   powers   from   Delhi   special   Police   Establishment 
Act, 1946 
d. Is the main investigating agency of the Central Government 
e. Answer not known 
kj;jpa Gydha;T Mizak; gw;wpa jtwhd nrhw;nwhliu fz;lwpf.  
a. xU rl;lhPjpahd mikg;G  
b. xU rl;lhPjpahd mikg;G my;y  
c. nly;yp jdpg;gl;l Nghyp]; gil mikg;G rl;lk; 1946 ypUe;J jd;   
mjpfhuq;fis ngWfpd;wJ.  
d. kj;jpa murpd; Kf;fpa tprhuiz Kfik MFk;  
e. tpil njhpatpy;iy 
 

15. When was the Indo-Tibetan Border Police (ITBP) raised? 
a. 02 October, 1969  b. 12 October, 1972 
c. 24 October, 1962    d. 30 October, 1975 
e. Answer not known 
,e;Njh – jpngj; vy;iy fhty; vg;nghOJ Vw;gLj;jg;gl;lJ?  
a. 2 mf;Nlhgh;> 1969   b. 12 mf;Nlhgh; 1972  
c. 24 mf;Nlhgh;> 1962  d. 30 mf;Nlhgh; 1975  
e. tpil njhpatpy;iy 

 
16. Assertion (A): The Chief Minister is the channel of Communication 

between Governor and the Council of Ministers. 
Reason (R): The Chief Minister is the head of State Council of
 Ministers 
a. (A) is false, but (R) is true 
b. (A) is true, but (R) is false 
c. Both (A) and (R) are true, but (R) is not a correct explanation of (A)  
d. Both (A) and (R) are true, and (R) is the correct explanation of (A) 
e. Answer not known 
$w;W ($) : MSeh; kw;Wk; mikr;ruitf;F ,ilNa jfty;  

  njhlh;G ghykhf nray;gLgth; Kjy;th; MFk;. 
fhuzk; (fh) : khepy mikr;ruit FOTf;F jiytuhf 

nray;gLgth; Kjy;tuhthh;. 
a. ($) jtwhdJ kw;Wk; (fh) rhpahdJ  
b. ($) rhpahdJ kw;Wk; (fh) jtwhdJ 
c. ($) kw;Wk; (fh) ,uz;Lk; rhp> Mdhy; (fh)> ($) f;F rhpahd 

tpsf;fk; ,y;iy  
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d. ($) kw;Wk; (fh) ,uz;Lk; rhp> kw;Wk; (fh)> ($) f;F rhpahd 
tpsf;fk;  

e. tpil njhpatpy;iy 
 

17. Select from the given provisions the correct one that was inserted 
under Article 51-A of the Indian Constitution under the 86th 
Amendment Act 2002? 
a. Respect the National flag and the National Anthem 
b. Protect and improve the Nations' Natural environment 
c. Safeguard public property 
d. Parents to provide opportunities for education to their children 

between the age of six and fourteen years 
e. Answer not known 
86-tJ rl;lj;jpUj;jk; %yk; ,e;jpa murpayikg;Gr; rl;lj;jpd; tpjp 
51-A y; Nrh;f;fg;gl;l rhpahd ruj;ijf; fPo;fz;ltw;wpypUe;J 
Njh;e;njLf;fTk;  
a. Njrpa fPjk; kw;Wk; Njrpaf; nfhbia kjpj;jy;  
b. ehl;bd; ,aw;ifr; #oiyg; ghJfhj;jy;  
c. ehl;bd; nghJr; nrhj;ijg; ghJfhj;jy;  
d. ngw;Nwhh; jq;fs; MwpypUe;J gjpehd;F taJ tiu cs;s 
Foe;ijfSf;fhd fy;tp toq;Fjy;  
e. tpil njhpatpy;iy 

 
18. Why certain expenditures are called Non-plan expenditure? 

a. expenditures not planned 
b. expenditures not included in the five year plan 
c. expenditures included after preparation of plan 
d. expenditures of miniscale amount 
Answer not known 
vjdhy; rpy nryTfis ‘jpl;lk; rhuh tUtha; nryTfs;’ vd 
miof;fpNwhk;?  
a. jpl;lk; Nghlg;glhj nryTfs;  
b. Ie;jhz;L jpl;lj;jpy; tuhj nryTfs;  
c. jpl;lk; Nghl;l gpd; Nrh;f;fg;gLk; nryTfs;  
d. kpfr; nrhw;gkhd nryTfs;  
e. tpil njhpatpy;iy 

 
19. Who said that the preamble of the constitution is "the political 

horoscope of the constitution? 
a. KM.Munshi  b. Dr. B.R. Ambedkar  
c. Mahatma Gandhi  d. Jawaharlal Nehru 
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e. Answer not known 
murpayikg;G Kfg;Giu vd;gJ “murpayikg;gpd; murpay; [hjfk;’ 
vdf; $wpath; ahh;?  
a. Nf.vk;. Kd;~p   b. Dr. B.R. mk;Ngj;fh; 
c.  kfhj;kh fhe;jp    d. [t`h;yhy; NeU  
e. tpil njhpatpy;iy  

 
20. The function/s of Reserve Bank of India are : 

1.       Issue of currency 
2.       Banker to Government 
3.      Banker's Bank 
4.       Exchange Management and Control   
a. l only    b. 2 only   c. 2 and 4 only   
d. 1, 2, 3 and 4   e. Answer not known 
,e;jpa hprh;t; tq;fpapd; nray;ghL / nray;ghLfshtd:  
1. ehza ntspaPL  
2. murhq;fj;jpd; tq;fpahsh; 
3. tq;fpfspd; tq;fpahsh;  
4. ghpkhw;w Nkyhz;ik kw;Wk; fl;LghL  
a. 1 kl;Lk;   b. 2 kl;Lk;   c. 2 kw;Wk; 4 kl;Lk; 
d. 1, 2, 3 kw;Wk; 4   e. tpil njhpatpy;iy 

 
21. The founder of the Abhinav Bharat Society 

a. Jutin Das      
b. Surya Sen 
c. Madan Lai Dhingra  
d. Ganesh Damodhar Savarkar 
e. Answer not known 
mgpet ghuj rq;fk; Njhw;Wtpj;jth; ahh;?  
a. [jpd; jh];    b. #h;ah nrd;  
c. kjd; yhy; jpq;f;uh  d. fNz~; jhNkhjh; rth;fh; 
e. tpil njhpatpy;iy 

 
22. The Mohammedan Association, the first Muslim organisation in 

Bengal was established in the year 
a. 1823  b. 1835  c. 1843  d. 1855 

e. Answer not known 
tq;fhsj;jpy; Kjy; K];yPk; ,af;fkhd> Kfkjpa ,af;fk; 
Njhw;Wtpf;fg;gl;l Mz;L  
a. 1823  b. 1835  c. 1843  d. 1855 
e. tpil njhpatpy;iy 
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23. The article 'Why I am an Atheist' written by 

a. Lala Lajpat Rai 
b. Bhagat Singh 
c. Bhagawati Charan Vohra 
d. Chandrashekhar Azad 
e. Answer not known 
‘ehd; Vd; ehj;jpfthjp” vd;Dk; fl;Liuia vOjpath; ahh;?  
a. yhyh y[gjp uha;   b. gfj; rpq;  
c. gftjp ruz; Nth`uh  d. re;jpuNrfh; Mrhj; 
e. tpil njhpatpy;iy 

 
24. A book "Eighteen Fifty Seven" was written by 

a. Dr. Alexander Duff  b. Dr. S.N. Sen  c. V.D. Savarkar 
d. J.W. Kaye   e. Answer not known 
‘gjpndl;L Ik;gj;jp VO” vd;w Gj;jfj;ij vOjpath; 
a. lhf;lh;. mnyf;rhz;lh; l/g;  b. lhf;lh;. v];.vd;. nrd;  
c. tp.b. rhth;f;fh;    d. N[.lgps;A+. Nfa;  
e. tpil njhpatpy;iy 

 
25. The Tamil Nadu State Social Welfare Board 

i. It was established in l954 
ii. It has undertaken many programmes for women and children 
iii. It has welfare programme for scheduled caste, scheduled tribe 

and orphans 
Which of the above statement is/are true with regard to TN social 
welfare board? 
a. (i) only    b. (i) and (ii) 
c. (i) and (iii)     d. (i),(ii)and(iii) 

e. Answer not known 
jkpof r%f eythhpak;  
1. 1954-y; cUthf;fg;gl;lJ 
2. ngz;fs;> Foe;ijfs; eyid Vw;gLj;J jpl;lq;fs; 

nray;gLj;jg;gLfpwJ.  
3. SCs and STs kw;Wk; MjuT ,y;yhNjhh;fSf;fhd jpl;lq;fs; 

eilKiwg;gLj;jg;gl;Ls;sJ. 
Nkw;$wpa $w;Wfspy; vJ / vit cz;ik? 
a. (i) kl;Lk;   b. (i) kw;Wk; (ii)  
c. (i) kw;Wk; (iii)   d. (i), (ii) kw;Wk; (iii)  
e. tpil njhpatpy;iy 
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26. If   difference   between   compound   interest   and   simple   interest   
for Rs. 32,000 for 2 years is Rs. 20 then the rate of interest is 

a. 
1

2
3

% b. 
1

2
2

  c. 
1

6 %
4

 d. 
1

4 %
2

 e. Answer not known 

& 32>000 mrYf;F 2 Mz;LfSf;F fpilf;Fk; $l;Ltl;bf;Fk;> 
jdptl;bf;Fk; ,ilNaAs;s tpj;jpahrk; & 20 vdpy; tl;b tPjk; 
vt;tsT?  

a. 
1

2
3

% b. 
1

2
2

  c. 
1

6 %
4

 d. 
1

4 %
2

 

e. tpil njhpatpy;iy 
 

27. Who is the author of the book 'Marainthupona Tamil Noolgal'? 
a. Mayilai Seeni Vengatasamy 
b. Thirumeni Rathina Kavirayar 
c. M. Ragava Iyengar 
d. M.V. Aravindhan 
e. Answer not known 
‘kiwe;J Nghd jkpo; E}y;fs;” – Mrphpah; ahh;?  
a. kapiy rPdp Ntq;flrhkp  
b. jpUNkdp uj;jpd ftpuhah;  
c. K. uhft Iaq;fhh; 
d. K.it. mutpe;jd;  
e. tpil njhpatpy;iy 

 
28. Identify the group, those who   were called themselves as 

'Varnashrma dharmangal anupalitha' in the history of Tamil Nadu? 
a. Pallavas    b. Pandyas  
c. Nayaks    d. Tondaimans of Pudukkottai 
e. Answer not known 
jkpof tuyhw;wpy; ‘th;zh rpuk jh;kq;fs; mDghypj’ vd;W jq;fis 
mioj;Jf; nfhz;lth;fs;?  
a. gy;yth;fs;    b. ghz;bah;fs; 
c. ehaf;fh;fs;    d. GJf;Nfhl;il njhz;ilkhd;fs;  
e. tpil njhpatpy;iy 

 
29. "A carpenter who makes eight Chariot's a day. How strong a 

Chariot's wheel if he takes one month to make that one". What is the 
implied meaning of this Turananutru Padal'? 
a. A strong person     b. A victorious person 
c. A charitable person  d. One who supports poets 
e. Answer not known 
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‘vz;Njh; nra;Ak; jr;rd; 
jpq;fs; typj;j fhy;md; NdhNd” – vDk; GwehD}w;W ghly; 
czh;j;Jk; nghUs;. 
a. typik cilatd;  b. ntw;wp ngWgtd; 
c. nfhil nfhLg;gtd;  d. Gytiu Mjhpg;gtd;  
e. tpil njhpatpy;iy 
 

30. "Last full moon 
We had our father, we had our hill". 
In which division the poem Purananooru Express? 
['Atrai Thingal av venilavin 
enthaiyum udaiyem yemkundrum perer kolar'] 
a. Helpless state in distress (Kayaru Nilai) 
b. Mazhapula Vanji 
c. Porunmozhi Kanji 
d. Perumkanji 
e. Answer not known 
‘mw;iwj; jpq;fs; mt;ntz; zpyfpd;  
ve;ijAk; cilNak; vk;Fd;Wk; gpwh;nfhshh;” – vDk; GwehD}w;Wg; 
ghly; czh;j;Jk; Jiw vJ?  
a. ifaW epiy    b. koGy tQ;rp  
c. nghUz;nkhopf; fhQ;rp  d. ngUq;fhQ;rp  
e. tpil njhpatpy;iy 

 
31. The father of economic Ecology is 

a. Gandhiji    b. M.S. Swaminathan 
c. Sivan            d. Nammazhvar 
e. Answer not known 
nghUshjhu #oypaypd; je;ij vdg;gLgth; 
a. fhe;jp[p   b. vk;.v];. Rthkpehjd; 
c. rptd;    d. ek;kho;thh;  
e. tpil njhpatpy;iy 

 
32. Consider the following statement.  

Parson valley is associated with 
1. Hydel energy 
2. Solar energy 
3. Nuclear energy 
4. Wind energy 
Above which one is correct?  
a. 2, 3  b. 1   c. 1, 4  d. 4  e. Answer not known 
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fPo;f;fz;l $w;iw Muha;f.  
ghh;rd; Ntyp vjid rhh;e;jJ? 
1. Gdy; kpd;rhuk; (ePh; Mw;wy;) 
2. #h;a rf;jp kpd;rhuk;  
3. mZkpd; Mw;wy;  
4. fhw;whiy kpd;rhuk;  
NkNy cs;sitapy; vJ rhpahd tpil? 
a. (2), (3)   b. (1)    c. (1), (4)  
d. (4)    e. tpil njhpatpy;iy 
 

33. __________ is a cash award given to Hindu Adi Dravidar students of 
Tamil Nadu (one boy and one girl) who secure first rank in each 
district in plus 2 public examinations. 
a. Thiruvalluvar Award   
b. Ambedkar Award 
c. Annal Gandhi Memorial Award  
d. Periyar Award 
e. Answer not known 
xt;nthU khtl;lj;jpYk;> gd;dpnuz;lhk; tFg;G nghJj; Njh;tpy; 
Kjyplk; gpbf;Fk; jkpof ,e;J Mjp jpuhtpl khzth;fSf;F (xU 
Mz; kw;Wk; xU ngz;) toq;fg;gLk; nuhf;f tpUJ __________ MFk;. 
a. jpUts;Sth; tpUJ   
b. mk;Ngj;fhh; tpUJ  
c. mz;zy; fhe;jp epidT tpUJ  
d. nghpahh; tpUJ  
e. tpil njhpatpy;iy 

 
34. Government of Tamil Nadu was published first Human 

Development report in the year 
a. 2000  b. 2001  c. 2002   d. 2003 

e. Answer not known 
jkpof murpd; Kjy; kdpjts Nkk;ghl;L mwpf;if ntspaplg;gl;l 
Mz;lhdJ  
a. 2000  b. 2001  c. 2002   d. 2003 
e. tpil njhpatpy;iy  

 

35. 
2

2 3 4 5
, , ,
2 42 2

, __________  

a. 6 / 2   b. 6/8  c. 46 / 2  d. 
6

5
 

e. Answer not known 
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2

2 3 4 5
, , ,
2 42 2

, __________  

a. 6 / 2   b. 6/8  c. 46 / 2  d. 
6

5
 

e. tpil njhpatpy;iy 
  

36. The TICEL park is 
a. Rubber park   b. Textile park 
c. Food park     d. Bio park 

e. Answer not known 
G+q;fh vd;gJ  
a. ,ug;gh; G+q;fh  b. [Tsp G+q;fh  
c. czT G+q;fh  d. caphp G+q;fh  
e. tpil njhpatpy;iy 
 

37. Why Chengalpattu District can be called as "the Gateway of 
Chennai"? 
a. It is the threshold to the State's capital from Southern Districts 
b. It is the threshold to the State's capital from Northern Districts 
c. It is the threshold to the State's capital from Eastern Districts 
d. It is the threshold to the State's capital from Western Districts 
e. Answer not known 
nrq;fy;gl;L khtl;lj;ij ‘nrd;idapd; Eiothapy;” vd;W Vd; 
miof;fyhk;?  
a. njd; khtl;lq;fspypUe;J jiyefUf;F nry;Yk; Eiothapyhf     
   ,Ug;gjhy;  
b. tl khtl;lq;fspypUe;J jiyefUf;F nry;Yk; Eiothapyhf  
   ,Ug;gjhy;  
c. fpof;F khtl;lq;fspypUe;J jiyefUf;F nry;Yk; Eiothapyhf  
   ,Ug;gjhy;  
d. Nkw;F khtl;lq;fspypUe;J jiyefUf;F nry;Yk; Eiothapyhf  
  ,Ug;gjhy;  
e. tpil njhpatpy;iy 

                             

38. If  
2

25

3

x

x

−

+
 is divided by 

2

5

9

x

x

+

−
 then quotient is  

a. (x – 5) (x + 3)    b. (x – 5) (x – 3) 

c. (x + 5( (x – 3)    d. (x + 5) (x + 3)  
e. Answer not known 
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2
25

3

x

x

−

+
vd;gij 

2

5

9

x

x

+

−
My; tFf;Fk; NghJ fpilf;Fk; <T  

a. (x – 5) (x + 3)    b. (x – 5) (x – 3) 
c. (x + 5( (x – 3)    d. (x + 5) (x + 3)  
e. tpil njhpatpy;iy 
 

39. Find the sum of infinite terms of the geometric series + 16 – 4 + 144 – 
43 + ….. 
a. 4 b. – 8   c. – 3   d. – 4  e. Answer not known 
+ 16 – 4 + 144 – 43 + ….. vd;w ngUf;Fj; njhlh; thpirapd; KbTwh 
cWg;Gfs; tiu $Ljy; fhz;f.  
a. 4 b. – 8   c. – 3   d. – 4  e. tpil njhpatpy;iy 
  

40. If the consecutive English alphabets A to N are represented 
respectively by the integers from 14 to 1 and alphabet 0 is represented 
by zero and the alphabets P to Z are represented from -1 to —11 then 
find the sum of integers representing SUCCESS? 
a. 16  b. 16  c. 2  d. 18 e. Answer not known 
A Kjy; N tiuapyhd Mq;fpy vOj;Jf;fs; KiwNa 14 Kjy; 1 
tiu Fwpf;fg;gLfpwJ. Mq;fpy vOj;J O vd;gJ G+[;aj;jpy; 
Fwpf;fg;gLfpwJ NkYk; Kjy; Z tiuapyhd Mq;fpy vOj;Jf;fs; -1 
Kjy; -11 tiuapyhd KO vz;fshy; Fwpf;fg;gl;lhy; SUCCESS vd;w 
Mq;fpy thh;j;ijapy; cs;s vOj;Jf;fisf; Fwpf;Fk; KO vz;fspd; 
$Ljy; fhz;f?  
a. 16  b. 16  c. 2  d. 18 e. tpil njhpatpy;iy 
 

41. Pipe A can fill an empty tank in 6 hours and pipe B in 8 hours. If both 
the pipes are opened and after 2 hours pipe A is closed, how much 
time B will take to fill the remaining tank? 

a. 7hrs   b. 5hrs c. 
5

96
hrs  d. 

1
3

3
hrs 

e. Answer not known 
xU ntw;Wj; njhl;bia Foha; A 6 kzp Neuj;jpYk; Foha; B. 8 kzp 
Neuj;jpYk; epug;g KbAk;. ,U Foha;fSk; jpwf;fg;gl;L> 2 kzp 
Neuj;jpw;Fg; gpd;Foha; A %lg;gl;lhy;> kPjKs;s njhl;bia epug;g 
Foha; B vt;tsT kzp Neuk; vLj;Jf; nfhs;Sk;?  

a. 7 kzpfs;    b. 5 kzpfs;   c.  
5

96
kzpfs;   

d. 
1

3
3
 kzpfs;   e. tpil njhpatpy;iy 
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42. A is thrice as fast as B. If B can do piece of work in 24 days then find 
the number of days they will take to complete the work together. 
a. 5 days    b. 6 days   c. 8 days   
d. 9 days   e. Answer not known 
A vd;gth; B vd;gtiuf; fhl;bYk; Ntiy nra;tjpy; %d;W klq;F 
Ntfkhdth;. B Mdth; xU Ntiyia 24 ehl;fspy; Kbg;ghh; vdpy;> 
,UtUk; ,ize;J me;j Ntiyia Kbf;f vj;jid ehl;fs; vLj;Jf; 
nfhs;th; vdf; fhz;f.  
a. 5 ehl;fs;   b.  ehl;fs;   c. 8 ehl;fs;  
e. 9 ehl;fs;    e. tpil njhpatpy;iy 

 
43. The difference between the CI and SI for 2 years for a principal of Rs.  

500 at the rate of interest 8% p.a is 
a. Rs. 32   b. Rs. 38   c. Rs. 48 
d. Rs. 50   e. Answer not known 
& 500 f;F 8% Mz;L tl;bapy; 2 Mz;LfSf;F $l;Ltl;bf;Fk; 
jdptl;bf;Fk; ,ilNaAs;s tpj;jpahrk;  
a. & 32   b. & 38   c. &. 48  
d. & 50   e. tpil njhpatpy;iy 

 
44. A sum of money amounts to Rs. 2,662 at the rate of 10% compounded 

annually for 3 Yr. The sum of money is 
a. Rs. 2,000  b. Rs. 1,800  c. Rs. 1,500  d. Rs. 2,500 
e. Answer not known 
10% Mz;L tl;bapy; Mz;Lf;nfhUKiw tl;b fzf;fplg;gl;lhy;> 3 
Mz;Lfspy; _______ vd;w mryhdJ & 2>662 njhifahf MFk;.  
a. & 2>000  b. & 1>800   c. & 1>500 
d. &. 2>500   e. tpil njhpatpy;iy 

 

45. If 1000 : 10 = x  : 
1

1000
 find x.  

a. 10 b. 
1

10
  c. 1000 d. 

1

1000
 e. Answer not known 

1000 : 10 = x  : 
1

1000
  vdpy; x -d; kjpg;igf; fhz;f.  

a. 10 b. 
1

10
  c. 1000 d. 

1

1000
 e. tpil njhpatpy;iy 

 
46. Which is the largest ratio?  

5 : 7, 1 : 2, 3 : 5, 7 : 10  
a. 5 : 7 b. 1 : 2 c. 3 : 5  d. 7 : 10  e. Answer not known 
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fPo;f;fz;ltw;Ws; kpfg;nghpa tpfpjj;ijf; fhz;f.  
5 : 7, 1 : 2, 3 : 5, 7 : 10  
a. 5 : 7  b. 1 : 2 c. 3 : 5  d. 7 : 10   
e. tpil njhpatpy;iy 

 
47. Find the Highest common Factor (HCF) of 21x2y, 35xy2. 

a. 3x3y3  b. 5x3y3 c. 7xy  d. 9xy2     e. Answer not known 
21x2y, 35xy2 Mfpatw;wpd; kPg;ngU nghJ tFj;jp (kP.ngh.t) fhz;f.  
a. 3x3y3  b. 5x3y3 c. 7xy  d. 9xy2     e. tpil njhpatpy;iy 
 

48. Find the Highest Common Factor (HCF) of 408, 170. 
a. 36 b. 34  c. 33  d. 30   e. Answer not known 
408, 170 vd;w vz;fspd; kPg;ngU nghJ tFj;jpia fhz;f. (kP.ngh.t) 
fhz;f.  
a. 36 b. 34  c. 33  d. 30   e. tpil njhpatpy;iy 

 
49. The radiation with highest energy is 

a. X-ray  b. UV-ray  c. IR-ray   d. Visible light  
e. Answer not known 
mjpf Mw;wYld; tpsq;Fk; fjph;tPr;R ___________ MFk;. 
a. vf;]; fjph;    b. Gw Cjhf; fjph; 
c. mfr;rptg;G fjph;   d. fz;ZW xsp 
e. tpil njhpatpy;iy  
 

50. Decibel is a unit to measure the 
a. Intensity of Radiation             b. Intensity of Sound 
c. Intensity of light     d. Intensity of heat  
e. Answer not known 
nlrpgy; vd;gJ ___________ I msf;Fk; xU myF MFk;.  
a. fjph;tPr;rpd; nrwpT b. xypr; nrwpT   c. xspr; nrwpT   
d. ntg;gr; nrwpT   e. tpil njhpatpy;iy  
 

51. Open mindedness is a trait of 
a. Discovery    b. Concept learning 
c. Scientific perception  d. Scientific attitude 
e. Answer not known 
jpwe;j kdg;ghd;ik vd;w gz;G __________ MFk;. 
a. fz;Lgpbg;G     b. fUj;J fw;wy; 
c. mwptpay; Gyd;fhl;rp   d. mwptpay; kdg;ghd;ik  
e. tpil njhpatpy;iy  
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52. Why two wheeler are not normally fitted with diesel engine? 
a. Less efficiency   b. More smoke  
c. High power    d. Less density 
e. Answer not known 
Vd; ,uz;L rf;fu thfdq;fspy; Bry; vQ;rpd; nghUj;jg;gLtjpy;iy?  
a. Fiwe;j jpwd;    b. mjpf Gif 
c. mjpf jpwd;     d. Fiwe;j mlh;j;jp  
e. tpil njhpatpy;iy  

 
53. "SANKALP" is an Initiative associated with 

a. Learning Programme  
b. Skill Development Programme 
c. Decentralization Programme 
d. Capacity-Building Programme 
e. Answer not known 
"SANKALP" vd;gJ ,jNdhL njhlh;Gila njhLjhf;fj;jpd; 
Kjw;gbahFk;  
a. fw;wy; jpl;lk;    b. jpwd; Nkk;ghl;L jpl;lk;  
c. mjpfhu gutyhf;f jpl;lk;  d. jpwik – cUthf;f jpl;lk;  
e. tpil njhpatpy;iy  

 
54. The formation of Kerala state in the year 

a. 1943   b. 1946  c. 1953     d. 1956 

e. Answer not known 
Nfush khepyk; cUthf;fg;gl;l tUlk;  
a. 1943   b. 1946  c. 1953     d. 1956 
e. tpil njhpatpy;iy  
 

55. Khelo India was launched during the year  
a. 2015 - 2016   b. 2016 – 2017  c. 2017-2018  
d. 2018-2019   e. Answer not known 
NfNyh ,e;jpah ve;j tUlk; nfhz;L tug;gl;lJ? 
a. 2015 - 2016   b. 2016 – 2017  c. 2017-2018  
d. 2018-2019   e. tpil njhpatpy;iy  
 

56. The UN heritage site which is aimed to be a special development 
zone called 'Mecca for Buddhist' recently is 
a. Bodhgaya   b. Sarnath    c. Lumbini   
d. Mukthinath   e. Answer not known 
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UN cyf ghuk;ghpa jsk; cUthf;fapUf;Fk; “Gj;jkjj;jpd; nkf;fh” 
– rpwg;G Nkk;ghl;L kz;lyk; vq;F cs;sJ?  
a. Gj;jfah   b. rhuehj;   c. Yk;gpdp   
d. Kf;jpehj;   e. tpil njhpatpy;iy  

 
57. Which of the following is related to summer season of cropping? 

a. Zaid   b. Rabi  c. Kharif 
d. Dry farming e. Answer not known 
gpd;tUtdtw;Ws; vJ Nfhil fhyg; gUt Ntshz;ikAld; 
njhlh;GilaJ? 
a. irl;    b. uhgp 
c. fhhpg;    d. twz;l Ntshz;ik 
e. tpil njhpatpy;iy  
 

58. Which of the following soil is very rich in Humus?  
a. Laterite soil   b. Forest and mountains soil 

c. Marshy soil   d. Alluvial soil 
e. Answer not known 
gpd;tUtdtw;Ws; ve;j kz;zpy; caph;rj;J kpf mjpfKs;sJ?  
a. Nyl;liul; kz;  b. fhl;L kw;Wk; kiy kz; 
c. rJg;G epy kz;  d. tz;ly; kz;  
e. tpil njhpatpy;iy  

 
59. The famous Virupaksha temple located at the place 

a. Sri Kalahasti  b. Sri Bhadrachalam  
c. Hampi   d. Chidambaram 
e. Answer not known 
Gfo;ngw;w ‘tpUghf;~h’ Nfhtpy; mike;Js;s ,lk; vJ?  
a. = fhs`];jp  b. = gj;uhryk; 
c. `k;gp    d. rpjk;guk; 
e. tpil njhpatpy;iy  
 

60. In the Maratha administration 'Sumant' is named as 
a. Prime Minister   b. Commander-in-Chief 
c. Judge     d. Foreign Minister  

e. Answer not known 
kuhj;jpa eph;thf Kiwapy; ‘Rke;j;’ vd;gth; ahh;?  
a. gpujk mikr;rh;  b. Nrdhgjp 
c. ePjpgjp   d. ntspAwT mikr;rh;  
e. tpil njhpatpy;iy  
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61. Which one of the Statement is correct regarding Dauladabad? 

1. Dauladabad mean city of wealth. 
2. Another name of Dauladabad is Devagiri. 
3. Muhammad  bin   Tughlaq   changed  his   capital   from   Delhi  to  
Devagiri. 
4. Dauladabad was one part of the Bhamini kingdom. 
a. 1 only  b. 2 only  c. 3 only  d. l, 2, 3, 4 

e. Answer not known 
fPo;fz;litfspy; njsyjghj; gw;wpa $w;Wfspy; rhpahdJ vJ? 
1. njsyjghj; vd;why; nry;tk; nfhopj;j efuk; vd;W ngah;. 
2. njsyjghj;jpd; kw;nwhU ngah; Njtfphp  
3. KfkJ gpd; Jf;sf; jiyefiu nly;ypapy; ,Ue;J Njtfphpf;F 

khw;wpdhh;. 
4. njsyjghj;> ghkpdp murpd; xU gFjpahFk;. 
a. 1 kl;Lk;  b. 2 kl;Lk;  c. 3 kl;Lk; d. 1, 2, 3, 4  
e. tpil njhpatpy;iy  
 

62. The first Afgan rule in Delhi was founded by 
a. Malik Bahram 
b. Malik Mardan Dawlat 
c. Bahlul Lodi 
d. Islamkhan 
e. Answer not known 
nly;ypapy; Kjy; Mg;fhd; Ml;rpia epWtpath;  
a. khypf; gh;`hk;  b. khypf; kh;jhd; njsyj; 
c. g`Yy; Nyhb  d. ,];yhk; fhd;  
e. tpil njhpatpy;iy  

 
63. The smallest weight found at the Indus Valley sites 

a .675  b. .850  c. .875  d. .785 
e. Answer not known 
rpe;J rkntspapy; fz;Lgpbf;fg;gl;l kpf Fiwe;j msT vil  
a .675  b. .850  c. .875  d. .785 
e. tpil njhpatpy;iy  

 
64. Match the following : 

A. R.V.S. Perisastri  1. Former Chief Election Commissioner 
B. A.N. Roy   2. Former Chief Justice of India  
C. Charan Singh  3. Former Prime Minister of India 
D. B.N. Jha   4. Former Chairman of UPSC  
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 A B C D 
a. 1 2 3 4  
b. 2 4 1 3 
c. 3 2 4 1 
d. 4 3 1 2 
e. Answer not known 
gpd;tUtdtw;iw nghUj;Jf:  
A. R.V.S nghp rh];j;jphp 1. Kd;dhy; jiyik Njh;jy; Mizah; 
B. A.N. uha;   2. Kd;dhy; ,e;jpa jiyik ePjpgjp  
C. rud;rpq;   3. Kd;dhy; ,e;jpa gpujkh;  
D. B.N. [h   4. Kd;dhy; UPSC jiyth;  

A B C D 
a. 1 2 3 4  
b. 2 4 1 3 
c. 3 2 4 1 
d. 4 3 1 2 
e. tpil njhpatpy;iy  

 
65. The Supreme command of the Defence forces of the Union of India is 

vested in whom?  
a. The President 
b. The Parliament 
c. The President but regulated by Parliament 
d. Chief of Defence staff 
e. Answer not known 
,e;jpa xd;wpaj;jpd; ghJfhg;Gg; gilfspd; kPjhd cah;jdp 
Mizajpfhuk; ahhplk; cw;wike;jpUf;fpwJ?  
a. FabuRj; jiythplk;  
b. ghuhSkd;wj;jplk;  
c. FbauRj; jiythplk;: Mdhy; ghuhSkd;w newpKiwfSf;F          
   cl;gl;L  
d. Kg;gilj; jiyikj; jsgjpaplk;  
e. tpil njhpatpy;iy  
 

66. Which of the following 'writs', literally means "we command"? 
a. Habeas Corpus   b. Mandamus  c. Quo warranto  
d. Certiorari   e. Answer not known 
fPo; nrhy;yg;gl;ltw;Ws; ‘ehq;fs; MizapLfpNwhk;’ vd;w nghUs; 
czh;j;JtJ ________ kD.  
a. Ml;nfhzh;T kD  b. khz;lK];  c. Nfhthuz;Nlh   
d. nrh;bNahuhhp  e. tpilnjhpatpy;iy  
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67. A new All-India Service can be created by 

a. An act of Parliament 
b. An order of the President of India 
c. A resolution of the Rajya Sabha 
d. A resolution of the UPSC 
e. Answer not known 
Gjpa mfpy ,e;jpag; gzpapid ___________ My; cUthf;f ,aYk; 
a. ghuhSkd;w rl;lj;jpd; %yk;  
b. FbauRj; jiythpd; Mizapd; %yk;  
c. khepyq;fspd; mit jPh;khdj;jpd; %yk;  
d. kj;jpa gzpahsh; Njh;thizaj;jpd; jPh;khdk; %yk;  
e. tpilnjhpatpy;iy  

 
68. The Marginal farmers in India, who holds land upto 

a. 1 hectare   b. 2 hectares 
c. 4 hectares   d. 10 hectares 
e. Answer not known 
,e;jpahtpy; FW tptrhapfs; itj;jpUf;Fk; epyj;jpd; msT  
a. 1 n`f;Nlh;   b. 2 n`f;Nlh; 
c. 4 n`f;Nlh;   d. 10 n`f;Nlh;  
e. tpil njhpatpy;iy 
 

69. The Chairman of the 13th Finance Commission is 
a. N.K.P. Salve   b. KC. Panth c. Vrjay Kelkar  
d. Rangarajan    e. Answer not known 
13tJ epjpf; FOtpd; jiyth; ahh;?  
a. vd;.Nf.gp. rhy;Nt   b. Nf.rp. ge;;j;  
c. tp[a; Nfy;fh;   d. uq;fuh[d;  
e. tpil njhpatpy;iy  
 

70. Who among the following was considered as the "Father of Indian 
Uprising"? 
a. Bal Gangadhar Tilak   b. Bipin Chandra Pal 
c. C.R. Das     d. Gopala Krishna Gokhale 
e. Answer not known 
,e;jpa vOr;rpapd; je;ij vdf; fUjg;gl;lth; ahh;?  
a. ghy fq;fhju jpyfh;    b. gpgpd; re;jpu ghy;  
c. rp.Mh;. jh];     d. Nfhghy fpU~;z NfhfNy  
e. tpil njhpatpy;iy  
 



 

21 | Page 044-24339436, 42867555, 9840226187 
 

71. What is the mainstay of Indian Economy? 
a. Business     b. Agriculture 

c. Public Sector Industries  d. Manufacturing Sector 
e. Answer not known 
,e;jpa nghUshjhuj;jpy; gpujhd ,lk; tfpg;gJ 
a. tzpfk;     b. tptrhak;  
c. nghJj; Jiw njhopw;rhiyfs;  d. cw;gj;jp Jiw  
e. tpil njhpatpy;iy  

 
72. In 1895, Shivaji Movement was started by 

a. Dadabhai Naoroji   b. Mahatma Gandhi  
c. Bal Gangadhar Tilak  d. Subash Chandra Bose 
e. Answer not known 
1895 Mk; Mz;L rpth[p ,af;fj;ij njhlq;fpath;  
a. jhjhgha; nesNuh[p  b. kfhj;kh fhe;jp  
c. ghy fq;fhju jpyfh;  d. Rgh~; re;jpu Ngh];  
e. tpil njhpatpy;iy  
 

73. Who said that, "All lives are alike at birth"? 
a. Kambar   b. Ilangovadigal  c. Thirumoolar   
d. Thiruvalluvar  e. Answer not known 
‘gpwg;nghf;Fk; vy;yh caph;f;Fk;’ – vd;wth;. 
a. fk;gh;    b. ,sq;Nfhtbfs; c. jpU%yh;   
d. jpUts;Sth;   e. tpil njhpatpy;iy  
 

74. Hem Chandra Kar's proclamation led to the outbreak of ___________. 
revolt. 
a. Indigo Revolt  b. Pabna Revolt  c. Deccan Riots  
d. Kuka Revolt  e. Answer not known 
N`k; re;jpu fhhpd; gpufldk; ____________ fpsh;r;rpf;F top tFj;jJ. 
a. ,z;bNfh fpsh;r;rp  b. ghg;dh fpsh;r;rp  c. jf;fhzf; fyfk; 
d. Ff;fh fpsh;r;rp   e. tpil njhpatpy;iy  
 

75. C.N. Annadurai assumed the power as Chief Minister in the year 
a. 1967  b.  1969 c. 1968 d. 1966 
e. Answer not known 
rp.vd;. mz;zhJiu Kjy; ke;jphpahf mjpfhuj;jpy; nghWg;Ngw;w 
Mz;L 
a. 1967  b.  1969  c. 1968 d. 1966 
e. tpil njhpatpy;iy  
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76. In the census of India which year some caste groups in Tamil Nadu 

claimed Kshatriya status? 
a. 1865  b. 1882 c. 1901 b. 2001  
e. Answer not known 
ve;j Mz;L ,e;jpa kf;fs; njhif fzf;nfLg;gpy; jkpo;ehl;bd; rpy 
rhjpapdh; rj;jphpa me;j];jpid Nfhhpdh;?  
a. 1865  b. 1882 c. 1901 b. 2001  
e. tpil njhpatpy;iy  
 

77. Karur Sedition Case was related to which movement? 
a. Swedeshi Movement  b. Indigo Movement 
c. Quit India Movement  d. Home Rule Movement 
e. Answer not known 

      f&h; gphptpid tof;F ve;j ,af;fj;NjhL njhlh;GilaJ?  
   a. RNjrp ,af;fk;   
   b. ,z;bNfh ,af;fk;  
   c. nts;isaNd ntspNaW ,af;fk;  
   d. jd;dhl;rp ,af;fk;  

 e. tpil njhpatpy;iy  
                                                       

78. If x % of 600 is 450, then find the value of x 
a. 75 b. 100  c. 125  d. 150 e. Answer not known 
600 d; x% MdJ 450 vdpy; x d; kjpg;ngd;d?  
a. 75 b. 100  c. 125  d. 150 e. tpil njhpatpy;iy  

 
79. Who wrote Puthukavithai (free verse) under the pen name 

Pasuvayya? 
a. Nagulan    b. Sundara Ramasamy  c. KalaPiriya 
d. Vikramathithan  e. Answer not known 
'gRta;ah' vd;Dk; Gidg; ngahpy; GJf;ftpij vOjpath; ahh;?  
a. eFyd;   b. Re;ju uhkrhkp   c. fyhg; gphpah  
d. tpf;fpukhjpj;jd;   e. tpil njhpatpy;iy  

 
80. The text which praises the victories of Lord Vishnu belongs 

___________ genre. 
a. Puranilai Valthu  b. Vaal Mangalam  c. Kandazhi 

d. Vaayurai Valthu  e. Answer not known 
jpUkhypd; ntw;wpiag; Gfo;tJ _______________ vd;Dk; JiwahFk;.  
a. Gwepiy tho;j;J  b. ths; kq;fyk;   c. fe;jop  
d. thAiw tho;j;J  e. tpil njhpatpy;iy  
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81. Mention the name of the Nayanar who built a Siva temple in his 
mind? 
a. Nesa Nayanar   b. Sadaya Nayanar 
c. Isai Nayanar    d. Poosalar Nayanar 
e. Answer not known 
jd; kdj;jpNy rptngUkhDf;Ff; Nfhapy; fl;ba ehadhh;  
a. Ner ehadhh;   b. rila ehadhh;  
c. ,ir ehadhh;   d. G+ryhh; ehadhh;  
e. tpil njhpatpy;iy 
 

82. To which pre-historic time antiquity of terracotta art was traced back? 
a. Chalcolithic Age   b. Megalithic Age  
c. Neolithic Age   d. Iron Age 
e. Answer not known 
tuyhw;Wf;F Ke;ija ve;j fhyf; fl;lj;jpy; RLkz; cUtf; fiy 
tof;fj;jpw;F te;jJ?  
a. nrk;G fhyk;   b. ngUq;fw;fhyk;  
c. Gjpa fw;fhyk;   d. ,Uk;Gf; fhyk;  
e. tpil njhpatpy;iy  

 
83. Kapadapuram was engulfed by a sea during the reign of the Pandian 

king 
a. Kadungon   b. Kaichinavazhuthi  c. Mudathirumaran 

d. Nedunchezhian  e. Answer not known 
fghlGuk; flyhy; %o;fbf;fg;gl;l NghJ Ml;rp nra;j ghz;ba kd;dd;  
a. fLq;Nfhd;   b. fha;rpdtOjp  c. Klj;jpUkhwd;  
d. neLQ;nropad;   e. tpil njhpatpy;iy  

 
84. Match the following : 

List I     List II  
A. TNeGA    1. State Nodal Agency 
B. E-Sevai    2. Online Service 
C. TN-GIS    3. Remote Sensing Technology 
D. Block chain back bone 4. Nambikkai Inaiyam 
 A B C D 
a. 1 2 3 4 
b. 2 1 3 4  
c. 1 2 4 3 
d. 4 3 2 1 
e. Answer not known 
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gpd;tUdtw;iw nghUj;Jf:  
A. TNeGA    1. ];Nll; Nehly; Vn[d;rp 
B. ,- Nrit    2. epfo;epiyr; Nritfs;  
C. TN – GIS    3. njhiyAzh;T njhopy;El;gk;  
D. Block chain back bone  4. ek;gpf;if ,izak;  

A B C D 
a. 1 2 3 4 
b. 2 1 3 4  
c. 1 2 4 3 
d. 4 3 2 1 
e. tpil njhpatpy;iy  

 
85. Match List I with List II and choose the correct answer: 

List I     List II  
      A. State commission for women 1. Emergency response to  
           women 
      B. State Resource centre for women 2. Shelter to affected women 
      C. One stop crisis centre   3. Holistic empowerment 
     D. Women Helpline Scheme  4. To address gender issues 

  A B C D 
a. 4 2 1 3  
b. 4 3 2 1  
c.  1 4 2 3  
d. 2 4 1 3 
e. Answer not known 

thpir I I thpir II cld; nghUj;jp rhpahd tpilia Njh;e;njLf;f:  
   thpir I     thpir II  

A. khepy kfsph; Mizak;   1. Mtru Neuj;jpy; ngz;fSf;F 
         cjTtJ  

B. khepy ngz;fs; ts   2. ghjpf;fg;gl;l ngz;fSf;F 
   ikak;           ghJfhg;gspg;gJ  
C. xU epWj;j nebf;fb  3. ngz;fSf;fhd KOikahd  
   ikak;         mjpfhukspj;jy;  
D. ngz;fs; cjtpj;njhiyNgrp  
  njhlh;G vz; jpl;lk;   4. ghypd gpur;ridfis  

         ifahs;tJ  
A B C D 

a. 4 2 1 3  
b. 4 3 2 1  
c.  1 4 2 3  
d. 2 4 1 3 
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e. tpil njhpatpy;iy  
 

86. To avail benefit under Sathiyavani Muthu Ammaiyar Ninaivu free 
supply of sewing machine are 
1. No age limit 
2. No income limit 
3. Destitute widow 
4. Beneficiary should have female child  
Among these, which are correct? 
a. (l) and (2)   b. (3)    c. (3) and (4)  
d. (4)    e. Answer not known 
rj;jpathzp Kj;J mk;ikahh; epidT ,ytr ijay; ,e;jpuk; 
toq;Fk; jpl;lj;jpd; gadhspfs;. 
1. taJ tuk;G ,y;iy 
2. tUkhd tuk;G ,y;iy  
3. Mjutw;w tpjit  
4. gadhspfs; ngz; Foe;ij itj;jpUf;f Ntz;Lk;  
gpd;tUgtw;wpy; vJ rhpahd tpil?  
a. 1 kw;Wk; 2   b. 2    c. 3 kw;Wk; 4 
d. 4     e. tpil njhpatpy;iy  
                                                

87. Find the sum of the series 
122 + 132 + 142 + ...... + 352 
a. 14404    b. 14104    c. 14204  
d. 14304   e. Answer not known 
gpd;tUk; njhlhpd; $Ljiyf; fhz;f.  
122 + 132 + 142 + ...... + 352 
a. 14404    b. 14104    c. 14204    
d. 14304   e. tpil njhpatpy;iy  

 
88. The simple Interest at x% for x years will be Rs. x on a sum of 

a. Rs. x   b. Rs. 
100

x

 
 
 

   c. Rs. 100 x   

d. Rs. 
2

100

x

 
 
 

  e. Answer not known 

Mz;Lf;F x% tl;b tPjk; x Mz;LfSf;F & x jdptl;bahf 
fpilf;fngWk; mry; (njhif) vt;tsT?  

a. &. x   b. &.  
100

x

 
 
 

   c. &.  100 x   

d. &.  
2

100

x

 
 
 

  e. tpil njhpatpy;iy  
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89. Find next term. 
1 1 5 7

, , , , 2,?,
2 3 6 6

….. 

a. -
5

6
 b. 

7

3
  c. 4  d. 

19

6
  e. Answer not known 

mLj;j cWg;igf; fhz;f.  
1 1 5 7

, , , , 2,?,
2 3 6 6

….. 

a. -
5

6
 b. 

7

3
  c. 4  d. 

19

6
  e. tpil njhpatpy;iy  

 
90. If IS  = 26 and WAS = 38 then ARE will be equal to?  

a. 60 b. 63  c. 57  d. 58  e. Answer not known 
IS = 2 kw;Wk; WSA = 38 vdpy; ARE d; kjpg;G vjw;F rkk;?  
a. 60  b. 63  c. 57  d. 58 e. tpil njhpatpy;iy  
  

91. Two coins   are tossed together.  What is the probability of getting 
different faces on the coins? 
a. 1 b. ¼  c. ½  d. ¾  e. Answer not known 
,uz;L ehzq;fs; xd;whfr; Rz;lg;gLfpd;wd. ,uz;L ehzaq;fspYk; 
ntt;NtW Kfq;fs; fpilg;gjw;fhd epfo;jfT vd;d?  
a. 1 b. ¼  c. ½  d. ¾  e. tpil njhpatpy;iy  

 
92. Find the probability of getting a red ball from a bag containing 20 red 

balls. 
a. 0    b. 1  c. 1/20 d. 1/2  e. Answer not known 
20 rptg;G epwg; ge;Jfs; mlq;fpa igapypUe;J xU rptg;G epwg; ge;J 
fpilg;gjw;fhd epfo;jfT fhz;f.  
a. 0    b. 1  c. 1/20 d. 1/2  e. tpil njhpatpy;iy 
 

93. The diagonal of a rectangle is 41  cm and its area is 20 Sq cm. What is 
the perimeter of the rectangle? 
a. 9 c b. 18 cm c. 20 cm d. 41 cm e. Answer not known 

xU nrt;tfj;jpd; %iytpl;lk; 41  nr.kP kw;Wk; mjd; gug;G 20 
r.nr.kP vdpy; nrt;tfj;jpd; Rw;wsT vd;d?  
a. 9 nr.kP  b. 18 nr.kP   c. 20 nr.kP  
d. 41 nr.kP   e. tpil njhpatpy;iy  

 
94. If the base area of a hemispherical solid is 1386 sq. metres, then find 

its total surface area. 
a. 4158 m3   b. 4158 m2   c. 4185 m2   
d. 4185 m  e. Answer not known 
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xU jpz;k miuf; Nfhsj;jpd; mbg;gug;G 1386 r.kP vdpy;> mjd; 
nkhj;jg; Gwg;gug;igf; fhz;f.  
a. 4158 kP3   b. 4158 kP2   c. 4185 kP2   
d. 4185 kP  e. tpil njhpatpy;iy  

 
95. A certain sum of money amounts to Rs. 10,080 in 5 years at 8%. Find 

the principal 
a. Rs. 7,000  b. Rs. 7,200  c. Rs. 7,100  d. Rs. 7,300 

e. Answer not known 
xU Fwpg;gpl;l njhifahdJ 8% tl;b tPjj;jpy; 5 Mz;Lfspy; & 
10>080 MfpwJ. mriyf; fhz;f.  
a. & 7>000  b. & 7>200  c. & 7>100  d. &. 7>300  
e. tpil njhpatpy;iy  

 
96. In what time will Rs. 5,600 amount to Rs. 6,720 at 6% per annum? 

a. 3 years  b. 4 years  c. 3 
1

3
 years  d. 2 years 

e. Answer not known 
vj;jid Mz;Lfspy; & 5>600 Mz;Lf;F 6% jdptl;b tPjj;jpy; & 
6>720 Mf caUk;?  

a. 3 Mz;Lfs;   b. 4 Mz;Lfs;   c. 3 
1

3
 Mz;Lfs;  

d. 2 Mz;Lfs;   e. tpil njhpatpy;iy  
 

97. Simplify: 
2 2

2 3

3 2 2 3

x x

x x x x

+ −
+

+ + − −
 

a. 
1

1x +
  b. 

1

1x

−

+
  c. 

2

1x +
  d. 

2

1x

−

+
 

e. Answer not known 

RUf;Ff: 
2 2

2 3

3 2 2 3

x x

x x x x

+ −
+

+ + − −
 

a. 
1

1x +
  b. 

1

1x

−

+
  c. 

2

1x +
  d. 

2

1x

−

+
 

e. tpil njhpatpy;iy  
 

98. Simplify:  
1 2 5 1 1

1 8 5
3 3 7 2 4

      
− −   + − − −      
      

 

a. 
41

5
60

−   b. 
1

5
60

−   c. 
41

5
60

 d. 
41

3
60

−   

e. Answer not known 
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RUf;Ff: 
1 2 5 1 1

1 8 5
3 3 7 2 4

      
− −   + − − −      
      

 

a. 
41

5
60

−   b. 
1

5
60

−   c. 
41

5
60

 d. 
41

3
60

−   

e. tpil njhpatpy;iy  
 

99. Find the ratio of H.C.F and the L.C.M. of the numbers 12 and 18. 
a. 1:6   b. 2:3  c. 3:4   d. 4 : 5 
e. Answer not known 
12 kw;Wk; 18 Mfpa vz;fspd; kP.ng.fh. kw;Wk; kP.rp.k tpd; 
tpfpjj;ijf; fhz;f.  
a. 1:6   b. 2:3  c. 3:4   d. 4 : 5 
e. tpil njhpatpy;iy  

  
100. The L.C.M of two Co-Prime number is 6006. One of them is 66. Then 

find the other number. 
a. 1001  b. 101   c. 91   d. 6 
e. Answer not known 
,U rhh; gfh vz;fspd; kP.rp.k. 6006. Xh; vz; 66 vdpy; kw;Nwhh; vz; 
vd;d?  
a. 1001  b. 101   c. 91   d. 6 
e. tpil njhpatpy;iy  

 


